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SRR 4,470,000
ST 1,944,274
EEAR 1,790,278
EREHE 288,662
1 TatmE (X)) E=i 81,350.00 81,350
2 {TEtmE (PR ES 81,350.00 81,350
3 AR (REMHIAR) 5 81,350.00 81,350
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EIERE 153,996
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9 MEEE ® 28,680.00 28,680
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ZOMEAT 1,790,278 x 53.85% = 964,064
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G2 1,944,274

PRl 964,064

EOMURE 1,790,278 x 53.85% = 964,064
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AR (L1) 81,350.00 | 1 81,350 | 7 5,694
TETHR2 (PR 81,350.00 | 1 81,350 | 7 5,694
TECHES (RRBHAR) 81,350.00 | 1 81,350 | 7 5,694
TEREEBOIER 44,612.00 | 1 44,612 7 3,122
i 53,079.00 | 1 53,079 | 7 3,715
WEMAF L JAEEY J\ 5,000m2LLE7,000m2kiE 1,337,088.00 | 1 1,337,088 | 7 93,506
SWEWE2 T 100m2ELE300m2ski 111,449.00 | 1 111,449 | 7 7,801
& it 1,790,278 125,316
HRESSBEATSAR
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i 53,079.00 | 1 53,079
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& it 1,501,616
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1,501,616 x 0.0191 = 28,680
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